Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 21/02/2024
Exam Time 2:30 PM - 3:30 PM
Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1
Ans 1. Carol
2. David
3. Emily
« 4. Ben
Q.2
Ans 1.
+ 2. Both conclusion I and III follows
3.
4.




Q.3

Ans

& 3.




Q.4

. |AOVOA
> |OAOAQ|
v |AOAOA
« |AOVOV
Q.5
Ans 1. % and -
« 2. +and +
3. x and +

4. = and =




Q.6

Ans

1. 8088
« 2. 8147
3. 8103
4. 8184

Q.7

Ans

In the following question, select the missing number from the given series.

I, 16,31,46.61.7
1. 78
2.70

3. 76
4. 80

Q.8

Ans

1.0
2. T
3 H

4 M

Q.9

Ans

16
2. 5§
3. 4
4.7

Q.10

Ans

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

RMJE, VQNI, ZURM, DYVQ, ?
1. HMCZ

« 2. HCZU
3. HMNR
4. HNEM




QN

Ans

o 2. @ and +

4. —|—a_r_'ld_

Q.12

Ans

1. WRUO
« 2. WRUI
3. VIUL
4 VRWO

Q.13

Ans

After arranging the given words according to dictionary order, which ward will come at ‘Fifth’ position?
1. Whip

2 While

3. White

4. Whisk

5. Whiff
T Whisk
2. Whip
3. While
« 4 White

Q.14

Ans

Select the option that is related to the third word in the same way as the second word is related to the first word.
Artist : Canvas :: Sculptor : ?
1. Paint
2. Pen
+ 3. Stone
4. Paper

Q.15

Ans

1. MZJG : ARZO
2. KUQP : RSHO

3. BOEF : DJKI
v 4 EADT : DZCS




Q.16

Ans

AT

‘iu DF’

Q17 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

PQMN, STPQ, VWST, YZVW, ?
Ans w1 BCYZ
2. MCTQ

3. BTPQ
4. BMPQ

Q.18

Ans 1. HPTVA

2. HQTUA
3. HTQVA
« 4 HQTVA
Q.19
Ans 1.

o W m




Q.20

Ans

vl

Section : Part-B-General Knowledge and General awareness

Q.1
Ans 1.

« 2. Germany

3. Australia

4. Belgium

Q2 To which of the following states of India does the dance form Dandari belong?

Ans 1. Kerala
2. Maharashtra
3. Harvana

« 4. Telangana




Q.3

Ans 1.
2
3. KS Chithra
4,
Q.4
Ans 1
2
3.
& 4
Q5 Which five-year plan of India was introduced under the leadership of Indira Gandhi?
Ans 1. Third
2. First
3. Second
« 4. Fourth
Q6 Hareli, Kajari, and Madai festival are associated with which of the following states?
Ans 1,
2
3. Punjab
4. Haryana
Q7 Which chemical compound is used in car batteries and has the formula PbSO4?
Ans 1,
2
3. Lead oxide
+ 4. Lead sulfate
Q8 According to the 2011 census of India. which of the following states/UTs is most literate?
Ans 1 Goa
2. Tamil Nadu
3.
4,
Q9 During ancient India in the Tamil region, ordinary ploughmen were known as
Ans & 1. uzhavar
2. adimai

3.

4. wellalar




Q.10

Ans 1. 1980
2. 1990
3. 1960
o 4 1921
Q.1
Ans 1.
& 2.
3.
4.
Q12 The Vice-President of India serves as the ex-officio Chairman of which legislative body?
Ans f 1.
2.
3. Lok Sabha
4.
Q.13 Famed Bharatnatyam exponent and founder of Kalakshetra, Rukmini Devi Arundale was the proud recipient of 1956
Ans 1
2.
3.
4
Q.14
Ans 1. Jharkhand
2. Karnataka
3. Tamil Nadu
+ 4. Odisha
Q.15
Ans o 1.
2.
3. Arn Jetli




Q16 Cricket became an international game with the formation of the in 1909.
Ans w1 ICC
2. IYC
3. IPL
4. BCC
Q17 The Gross Demestic Product of a country is derived from the different sectors of the economy, namely
Ans 1.
2.
3.
o 4.
Q.18
Ans 1.
2.
o 3.
4.
Q19 India has Km of land border and a coastline of 7,516.6 Km including island territories.
Ans 1. 25,106.7
2. 9,106.7
3. 5,106.7
« 4. 15,106.7
Q.20
Ans 1. Neither I nor II
+ 2. BothI and II
3. OnlyI
4. Only IT
Q1 The marked price of a chair is 10 percent more than its cost price. If the chair is sold for Rs. 132 after a discount of
Rs. 11, then what will be the profit percentage?
Ans 1. 2 percent
& 2.
3.
4. 1.21 percent




Q.2

Ans

A mixture contains acid and water in the ratio of 7 : 4. If 2 litres of water is added to it, then the ratio of acid and water
becomes 7 : 5. What is the quantity of acid in the mixture?

1. 20 litres

2. 21 litres

3. 7 litres
« 4 14 litres

Q.3

Ans

« 1. 20 percent

Q.4

Ans

The difference between cost price and selling price of an article is Rs. 120. If profit percentage is 10 percent, then what
is the selling price?

+ 1. Rs. 1320
2. Rs. 1000
3. Rs. 1200
4. Rs. 1440

Q.5

Ans

27 percent of a number exceeds 13 percent of the same number by 56. What is the value of the number?

1. 360
2..420
3. 380
« 4 400

Q.6

Ans

Two boys are standing on the opposite ends of a 900 metres long bridge. If they walk towards each other at the speed of

10 metres/minute and 8§ metres/minute respectively, then in how much time will they meet each other?
1. 25 minutes

2. 30 minutes
3.

4.

Q7

Ans

Find the area of the right angled triangle if the longest side of a right angled triangle is 17 cm and the height is 15 cm.
1. 54 cm®
2. 56 cm?*
3 60 cm?
4. 58 cm?*

Q.8

Ans

If the selling price of a fan is Rs. 306 and loss percentage is 32 percent, then what is the cost price of the fan?

1. Rs. 400
2. Rs. 450
3. Rs. 350
4. Rs. 380




Q.9

Ans 1. 6589
2. 9164
3. 8962
4. 4857
Q.10 Seema can do a work in 120 days, Anjali can do the same work in 144 days and Soniya can do the same work in 180
days. If they do that work together and they are paid Rs. 3300, then what is the share of Anjali?
Ans 1. Rs. 1100
2. Rs. 2000
3. Rs. 2500
4. Rs. 1700
Q.11
Ans 1. 9 x 32
2. 23 3 33
o 3. 23 ><35
4. 22 ><32
Q12 Ap article is sold for 2 204 after two successive discounts of 40% and 50%. What is the marked price of the article?
Ans 1.3 540
2. 3720
3. % 840
« 4. F 680
Q.13
Ans 1..2:3
2 1:1
3.3:1
4.2:1
Q.14
Ans 1. 22 kg
2. 24 kg
3 26kg

4. 29 kg




Q.15

Ans 1. 12

2. 15
3 23
4. 27

Q.16 The simple interest on a certain sum of money is ¥ 2275 at 13% per annum in 5 years. Find the sum of money.

Ans 1.2 4000
2. 3500

3. 25600
434200

Q.17

Ans i 9 days
2. 7 days
3.
4. 12 days

Q.18  If the original price of a watch is Rs. 500 and it is increased by 10%, then decreased by 15%, what is the final price?

Ans 1. Rs. 405.67
¥ 2. Rs. 467.50

3. Rs. 476.60

4. Rs. 456.70

Q.19

Ans 1. 17
2. 0
3 1

4. 289

Q.20

Ans 1370
2. 340
3. 350
4. 380

Section : Part-D-English




Q1

Ans 1. Withering
2. Nostalgia
3. Jaunty
4,
Q.2
Ans 1. dungeon
2. couple
« 3. destieny
4. previously
Q3
Ans 'f 1.
2
3.
4,
Q.4
Ans 1.
2. rising
+ 3. has risen
4. rises
@5 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
People put considerably many more effort when working in groups than when working alone.
Ans

1.

2.

3. No error
4.




Q.6

Find the part of the given sentence that has an error in it. If there is no error, choose ‘Wo error’.

Many people fear how they will manage if the virus will show upon in town.

Ans o 1.
2.
3.
4. No error
Q7
Ans 1. Patience
+ 2. Fearless
3. Coward
4. Trepid
Q.8
Ans 1. Wow
2. Oops
3. Yikes
4. Hush
Q.9  Choose the option which is antonym of (opposite of) the word "abdicated" in the sentence given below:
During the meeting, he confidently asserted his viewpoint, providing compelling arguments to support his position.
Ans 1. asserted
2. confidently
3. support
4.
Q.10
Ans 1.
2.
3




QN

Ans 1. Taunt
2. Praise
3. Intolerant
4. Pray
Q.12
Ans 1
2
« 3. No improvement
4,
Q.13
Ans 1.
2
3. No error
4. Neither of the
Q14 Select the sentence with no spelling errors.
Ans 1.
2
3.
4,
Q.15
Ans 1.
2
3.




Comprehension:

SubQuestion No : 16

Q.16

Ans 1. based
2. placed
3.
4. sitnated

Comprehension:

SubQuestion No : 17
Q.17

Ans 1. stoved

2. stave on
« 3. stave off

4. stave of

Comprehension:

SubQuestion No : 18

Q.18
Ans 1.
2.
3. comes

o« 4. came




Comprehension:

SubQuestion No : 19

Q.19
Ans 1. later
2.
« 3. after
4. behind
Comprehension:
SubQuestion No : 20
Q.20
Ans 1.

« 2. relapse

3. annexation
4. throwback

Section : Part-D-Hindi

QU SaffRT v &, 9% RBeedt # ¥, 37 BeeT o TUT L A Frves & BT A0 9 F IEF FT #
Her e & 1
3T & rat & (NET) T 3UAET W W AR e @ & e G s §

Ans 1. iramE
2. gIaAT
> over

v TR

2 fgfafEd uy ¥, 9R el 8 9, 39 e &1 909 o2 ol SIS § U 71U Ut & fadH Wse &1 96l e ¢ |
TSHER_ WRE M ARy

Ans 1 a_d
2 gadl
o 3. Q,F-ﬂ%ﬂ
4. ¥




Q.3

Ans

fufefad v o 9r fdeeul § U, 39 Ao &1 909 &8 Ol DS | 3T U Usg & d0H 0 &l Tg! 3 g1
O1d B4 B Bl ol gHIdl & &Y H WIHR B 6 3R 30 TR 2R (@\M6) 4 [sfed &Hd &, df
IADR 8 T&hd g

1 UM

2. JUAN

3 3
v 4 IR

Q.4

Ans

=T ve7 #, IX el # ¥, 37 e &7 999 F{ 37 BT 70 A=Eg 1 Fer 3797 Jar
ICET=-d
HI & gersa FF 3Hied o FArd

I T YT F5 B B

2. =0T ®A Hh {A AT

v 5 fREr @ 9w Fr 39eT W R e F # oer AT

Q.5

Ans

fafRad areg # X@ifhd 4T & o1t U ide s J1d Fifod|

gRgR ¥ dF Afedl &1 T H g 8|
1. ﬂ"l‘ﬂ:[
2. GHWH

v 3 Gguf
4 g

Q.6

Ans

feT 717 I # @iferg wee & T 38y Iaar A9 Fifew)

IR S 9w BT ST
ey

V2o

3. oeT

“oog

Q.7

Ans

frfaf@a ge7 &, fGT 710 9w fwedt & @, 35 fweT &1 797 & & T v gga & oy
HIASS ¥ H eO9d 4T gl
31EST FAATT

1. §gd HrIer g
2. 3UETH Hidl
3 oy e
V4 TS T @ AT




Q.8

Ans

fau 7T g9 H Waifd e & e UEt ad-T 91d S|
e foea™ U OR1 ged aTex 31 T 2

1. e
o 2. ]:ngﬁ”

5 Hgedl
4. HEel

Q.9

Ans

Resmamm s mammaa =, Gwmsr Rt R e g s =t & 50
a1 3T T v & ure @ g 9 #

. arg HR g

> g e 7 E

3. T B UIT
4 F qrer 9l §

Q.10

Ans

few =1v s Ay s Aa &Y, GEE g g 2
mﬁm#ﬁuﬂwmnmmmgm%l

1 HTIM FT HUFT
2E€TI'-EIT§'3-IT%
3% fa W
4. TS AT HAecHAT

QN

Ans

& U g1e o Y@ifded 2eg &1 [aaM s 1d SIfod |
gH g [l § gidgR &1 =gyl

2. GHATRI
« 3 He]dglY
4 HeaH




Q.12

Ans

fau TTu gregir & fo7U e gsg Ji1d Sifeu)
Uies T aral

I ffm

2. ﬁj@ﬂﬂl

v 3. ST
4 3NTd

Q.13

Ans

faafaf@T vam &, 91X fBesut & §, 37 BT o7 997 &Y 3 3% # BT 770 g F qurgar=y
e FT el e & |
AY U7 H FHAT /G ST F (FEa) Gl ST AT
gl
1. AeHYT
2.;\%

3 ISATHT
4 FIHE

Q.14

Ans

@ vod #, I Taeal # ¥, 37 TFeT 7 =09 F{ J7 Fa+ # 8T 717 g & qarga=r
A FT Fel FFeT & |

HE-ITH & ST & @Y (T1) g TR

I goE
2 FIT
3 3UER

v 4 afE=Tm

Q.15

Ans

fFgfTiad areg # W@ifhd HRT & iU U U1de s J1d Sifod |

FRINEREINGI
. Yl
2. Ty

3 Sfferaa
« 4 qrdidd




Comprehension:

A QT a1 TIe@mr 7 Fo e o R’ 71T §, T3F Igeoe & §AT TR fa@ed v Aw g1 39
e F CAFIEH T AR AR FFedt F F walcan seax Fren e T4

AT ¢ fordT A # ®i Fr R s e on, J39e deT i & TIT ST e o
ATheT TAT & TGoTd & Told gAY &7 W F$ FgLT drehdl o &, 5 ga@dr &3 i g
T @ G| gAY U A T Rowa off e @ 1 feam ST g ae S g & gAn & @

Fr off 93T U= & A7 AT & a1 Y a1 & a1 X HIg el AT Algoel & - T@T 9 7 TR FH3T

FIehe THCET| FAN T & RAepd # STl Tgaat arell FAEAS A T HAET HRUT TG ¢ Fih 66

FROT oeT FANL & H AT THE Fa ld & A @ gAY 337 = Saar &g 7ar [Hedr g1 gAN

éﬁ]’aﬁ'qﬂuﬁdm TT=C @, 3H* o &g 5 WO W & AW 37 TR I Fr ofr Fifdver Fr o

AR Ig T FRUT I%A ALl & 9| AR 3 H TEET 949 & O 9Rd GHR & UF A% AT

il &, fomeT 17 ‘Ta=o 9Rg 8O @ 3 g1 36 RO & dgd |l SuErtaar e s'A
g & o @gr o gl

SubQuestion No : 16

Q16 g Zor el A F T o BT T Iar o, 3w a3k F T ST S o
Ans 1':Fhﬁ

2 HERR

3. 5T

Comprehension:

A fGT a1 TIe@mer 7 Fo o o8 R T §, TUH 3geoE & §A OR fG@ed U Aw g1 34
e Y CAAIEH ¢ HR AR RFedt F F welcan seax Fren e T4

AT gor ToRET FA & i & = s Fmar on, 3w 3w sk & T Sar ST e
AThed TAT & TG & Told gAY &3 W FS gL drerdl o forar, forg® g/ T &or &1 geg
TIT @ TS| gAY U A X Tege off et fEmr ST §) e g g & gAn dur ar

Fr5 off 927 U= & A U & A1 Y a1 g a1 X HIg el AT Algeel @ - T@T T 7 TR HIT

Fhe THCET| FAN o7 & Rerd & ST Tgas Aol FAEAS A T HAET HRUT TG g Flh $Hh

HIUT ST FAN 891 H T THG FgT id 8 AR formd gAY 3o &1 saa &y 71 f&erd &1 g

&er off U TEE0 &, S8 [T &% J WU W ¥ 3 35F TR T Fr o wifdrer Fr o

et Ig T FRUT I%A FAET & 9| AN 29 T TEET g4 & O aRg GHR & UH A% AT

il &, formeT 7 ‘Ta=o sRg @O @ T g 36 AR & dgd |t SeErtaar e s'HA
g & forT ser 73 2

SubQuestion No : 17

7 oETw ¥ 9eoTT F Ty AR 29 W F5 aEd et 3 e
Ans 1. greg
2 FTH
o 3 TS

4 U=




Comprehension:

A QT a1 TIe@mr 7 Fo e o R’ 71T §, T3F Igeoe & §AT TR fa@ed v Aw g1 39
e F CAFIEH T AR AR FFedt F F walcan seax Fren e T4

ART 33 f5ndr FTA= & @i Fr =T Fer Jar o1, 39 39T 36K & forT Ser Far o)
ATheT TAT & TGoTd & Told gAY &7 W F$ FgLT drehdl o B, Saw gardr & Fr greg
TS & AR FAR qA A R feger off eurer 7 faar ST 81 ame S g g & w+
Frg off 95T T=T & M AT & A Y aF g 71 T Fg T 7T Figeen @ - T@ W o HH Far
FIehe TR FAN 3o % Ry & aTer 9g=a arell FRES A TFH HET FROT 7G0T g Fhih 366
FOT ST AN 39 F AT I0S Fg7 =g ¢ AT 50 gAY 397 &7 3941 &ty 77 B g1 g7
&2r off U TE=0 &, 38 T &% F AIH W ¥ A 37¢ THR FT 7 o s F oo
AT 9% B FRUT I6T ALT & 9T AR 3 H T 949 & O aRg TR & UF A% ST
Ferelr &, fome a7 ‘oo 9g @ @ T g 59 3@ o agg m@ef SuErfaatr Y swa
g & T e 73w gl

SubQuestion No : 18

O oz & R faeger o eua 7 @ s
Ans 1'3@%

v 2. B=adl

3. FET

Comprehension:

e e a2 s1ezmer 7 5o weg o R v §, 9w o & e IR Reed e aw §l 5w
e Y CAATEF TE AR TR et F F Fafeaw s e e o

T 2or T FA # e & RfEmr s Fmar on, o due it & T F=r ST o
AT THT ¥ TEoE F Tod AN 3 9T FE TEd Rt o B, Sme zardy 2o & g
T @ | gAY U H T fege off e €t fear Ser g1 s & g R g g F
Fre off 737 T=T g ;M M & A WY T g = T g e 7w Fgeen @ - T@ W o 3R FHaw
Fee THeET| gAR 3o & RerE A aar ogEe Sl FREAE # Ue HET FROT A § Fie s6h
FITOT ST AN 291 H HAT THE FEr Fa 2 A g gAY A w53 ey 76 e ¥ A
&er off qUTHET TEEO g, 58 AT &% = WO 3 ¥ 3T 37 TR FI Froofr Ffdver Fr o
AfeheT I T FRUT Fa AT &7 IIT| §AN 2 FF TEC 94 & T ARG TER 7 UF A% AT
Trereir &, forme 7 ‘TE=o SR 3@ @ T § S5 3R % agg |t et e ' A
g & T Far 3 B

SubQuestion No : 19

O gERT g o goTEr e @), sE fov wE ik o)
Ans 1m}ﬁ_

2 Zait

5. gEfaat

v 4 FRTIEST




Comprehension:

A T a3 reEmr 7 Fo oreg o R v E, 93 Igeoe & WA R fawew e 7 3w
T & CAATEF T AR TR Fwed! F § Falead 3eal e Fhes 4|

AT 2 TR A= F O & RfEar s S an, 39w dug sk ¥ T Fr=r Far
AR THT F FEoT F Tod gAR & W Fe FELT Jrehar o o, foas g@rdr <o & g
TS & AR FAR qA A R feger off eurer 7 faar ST 81 ame S g g & w+
Frg off 95T T=T & M AT & A Y aF g 71 T Fg T 7T Figeen @ - T@ W o HH Far
FIehe TR FAN 3o % Ry & aTer 9g=a arell FRES A TFH HET FROT 7G0T g Fhih 366
FOT ST AN 39 F AT I0S Fg7 =g ¢ AT 50 gAY 397 &7 3941 &ty 77 B g1 g7
&2r off U TE=0 &, 38 T &% F AIH W ¥ A 37¢ THR FT 7 o s F oo
AT 9% B FRUT I6T ALT & 9T AR 3 H T 949 & O aRg TR & UF A% ST
el g, fome a7 ‘oo 9g i@ @ o g 59 3@ & agg |l guErfaat Y swa
2 & T wer T gl

SubQuestion No : 20

% =g 3T ¥ Feg T vETREt #r s g & T wgr T §

Ans

v 1 enfAe
:
T
4.7‘"?]-






